微積分作業解答 1-3 Polar Coordinates 

 9.3 polar coordinates
＃5. The Cartesian coordinates of a point are given  (a) 
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(i) Find polar coordinates 
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(ii) Find polar coordinates 
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sol: (a)  
[image: image9.wmf]1,12,2cos2sin1

4

xyr

p

qqq

==Þ===Þ=

 

            
[image: image10.wmf]5

()(2,)()(2,)

44

iii

p

p

-


         (b)  
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7-12. Sketch the region in the plane consisting of points whose polar coordinates satisfy the given conditions.

＃9. 
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＃13. 
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. Identify the curve by finding a Cartesian equation for the curve.


Sol:  
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    為一圓心
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＃19. 
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. Find a polar equation for the curve represented by the given Cartesian equation.

Sol: 
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23-40. Sketch the curve with the given polar equation.

＃25. 
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  Sol:   
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[image: image27.jpg]27. r = 2(1 — sin #). This curve is a cardioid.
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47. 
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. Find the slope of the tangent line to the given polar curve at the point specified by the value of 
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 EMBED Equation.3  [image: image33.wmf]3

6

=

Þ

=

p

q

dx

dy



53. 
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. Find the points on the given curve where the tangent line is horizontal or vertical.
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   請自行畫圖, 水平切線(斜率為零)，即  
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水平切線切點為
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垂直切線(斜率不存在)即 
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55. Show that the polar equation 
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即圓心
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